12@0038 (K12a0038)

mr\ Linearized knot diagam
rw 5 6 10 2 1 12 11 4 9 8 7

Solving Sequence

Aknot dlagranﬂ cg €11 C7r Ci2 Cg C3

Ideals for irreducible componentfbf Xpar

I = (w® —u® .+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u —ud*+...+2u—1)

(i) Arc colorings

1
ag = \0
1
alg = U2
—u
as = \ —ud +u
—u? 41
all pry 'U,2
uwt—u?+1
ag = ,u4
—uS +ut —2u+1
a1z = ub + u?
ud — b +3ut — 2% +1
a7 = —u8 — 2u?
—u'0 4+ u® — 48 +3ut — 3+ 1
a; = ulO + 3u6 + u2
ul? — % 4+ 508 — 4uS 4+ 6ut — 3u + 1
ag = —ul? — 448 — 3ut
u?® —2uB 4+ —6ud +u
a3 = \ —u® +u? +... —3u° 4 u
u? — 20T - —8ud +u
a9 = u31_3u29+_“+2u3+u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?* + 12u3? — 4u3! — 68u®° + 8u?® + 160u>® — 52u?" —
460620 + 88u?® 4 852u2* — 268u?® — 1596u? + 376u?! + 2304020 — 7044 — 303218 +
800u'” + 3316u'® — 1020u'° — 3092u'* + 920u'? + 2408u'? — 836u!! — 1512u'0 +
588u? + 728u® — 37217 — 25618 + 192u® + 48u* — 64u> + 12u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u¥ 4 15u3t - 2u — 1
C2,C5 w4+ du+1
3 u?® —utt o —8u 1
€4, Co u 4Pt 2u 1
Ce,Cr7,C8 U35+5U34+"‘+2U+1
€10, C11, C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 Y+ 11y -+ 50y — 1
C2,Cs yP 15yt 2y -1
€3 Y+ Ty =30y — 1
Cy4, Cg Yy =5t 2y —1
Ce,Cr7,C8 y35+51y34++10y7 1
€10, C11, C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

= 0.827985 + 0.4429241

—0.41301 — 6.750761

—7.52201 + 10.310831

IS

0.827985 — 0.44292471

—0.41301 + 6.750761

—7.52201 — 10.310831

IS

—0.819369 + 0.7223921

3.00560 + 2.684331

—6.38966 — 3.261031

-~
IS

—0.819369 — 0.7223921

3.00560 — 2.684331

—6.38966 + 3.261031

u = —0.748025 + 0.4730521 1.37372 + 2.374601 —2.95509 — 5.640251
u = —0.748025 — 0.4730521 1.37372 — 2.374601 —2.95509 + 5.640251
u = —0.781691 + 0.8151091 6.78620 — 3.646521 —2.24620 + 2.511171
u = —0.781691 — 0.8151091 6.78620 4 3.646521 —2.24620 — 2.511171
u = 0.812484 4 0.8042581 8.37825 — 1.528331 0.15922 4 2.571411
uw=0.812484 — 0.8042581 8.37825 + 1.528331 0.15922 — 2.571411
uw= 0.876029 + 0.7690701 8.16101 — 4.259981 —0.39518 + 3.379761
u= 0.876029 — 0.7690701 8.16101 + 4.259981 —0.39518 — 3.379761
u = —0.899548 + 0.7516931 6.38574 + 9.409651 —3.35814 — 8.210271
u = —0.899548 — 0.7516931 6.38574 — 9.409651 —3.35814 4 8.210271
u= 0.764387 + 0.2918621 —2.05998 — 0.574161 —12.32788 4 4.087841
u= 0.764387 — 0.2918621 —2.05998 + 0.574161 —12.32788 — 4.087841
u = —0.796033 + 0.0814241 —3.02472 + 3.095581 —15.0272 — 5.68351
u = —0.796033 — 0.08142471 —3.02472 — 3.095581 —15.0272 + 5.68351

u = —0.569720 + 0.5526711 1.96860 + 1.394471 —0.18894 — 3.963271
u = —0.569720 — 0.5526711 1.96860 — 1.394471 —0.18894 + 3.963271
u= 0.446314 + 0.5831511 0.82978 + 3.007761 —2.26446 — 2.934791
u= 0.446314 — 0.5831511 0.82978 — 3.007761 —2.26446 + 2.934791
u=0.954730 + 0.9377361 13.9541 — 3.44401 —5.66125 + 2.214771
u 0.954730 — 0.9377361 13.9541 + 3.44401 —5.66125 — 2.214771
u= 0.947637 + 0.9544021 18.2191 + 3.95021 —2.24732 — 2.321861
u= 0.947637 — 0.9544021 18.2191 — 3.95021 —2.24732 4 2.321861
u = —0.953750 4 0.9519451 —19.4865 + 1.60851 0. —2.114491
uw = —0.953750 — 0.9519451 —19.4865 — 1.60851 0.+ 2.114491
u = —0.967443 + 0.9432801 —19.5330 + 5.34551 0. —2.285701
u = —0.967443 — 0.9432801 —19.5330 — 5.34551 0.+ 2.285701




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

0.972104 + 0.9390421

18.1363 — 10.89771

—2.41433 + 6.694421

0.972104 — 0.9390421

18.1363 + 10.89771

—2.41433 — 6.694421

0.628123

—0.861815

—11.7130

0.119848 + 0.4503631

—0.30459 — 1.792711

—2.31417 + 3.719941

SRR RS

0.119848 — 0.4503631

—0.30459 4 1.792711

—2.31417 — 3.719941




II. u-Polynomials

Crossings u-Polynomials at each crossing
‘1 u? + 15ut 4 2u— 1
c2,C5 P udt 4 dut 1
€3 u¥ — e~ 8u 1
C4,Co uP ot 2u
C6,C7,C8

€10, C11,C12

w5t o 2u 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Y3 4+ 11y* + -+ 50y — 1
€2, ¢35 Y 415y - 2y — 1
€3 Yy Tyt =30y — 1
€4, Co v = syt 2y — 1
C6,C7,C8

€10, C11,C12

y*? +51y* + -+ 10y — 1




